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1.

Maximum Marks : 60

INSTRUCTIONS TO THE CANDIDATES
There shall be Negative Marking for incorrect answer
and one forth (0.25) marks assigned to question(s) will
be deducted.

Candidate is required to write his/her Roll Number in (i) this
Question Booklet and (i) OMR Answer Sheet supplied
separately; and also put his/her signature at the places
provided for the purpose.

This Question Booklet consists of this cover page, and a
total 60 Items. Use blank pages available at the end of
Question Bookiet for rough work.

There are four alternative answers to each item marked as
(a), (b), (c) and (d). The candidate will select one of the
answers that is considered to be correct by him/her. He/
She will mark the answer considered to be correct by filling
the circle.

Use black/blue point pen to darken the circle.

See the followingillustration.

lllustration:

1.Thesumof20and 12is

(@)32 (b)38 (c)31 (d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

1 1@ ® © 0

Halffilled, faintly darkened, ticked or crossed circles will be
read as wrong answers by the optical scanner and will be
marked as incorrect.

The OMR Answer Sheet must be handed over to the
Invigilator before the candidate leaves the Examination
Hall.

Keep OMR Answer Sheet straight. Do notfold it.

All questions are compulsory, each guestion carries one
mark.

Use of calculator/mobile/any electronic item/objection
material is NOT permitted.

Controller of Examinations

AT A Y 3 oref Farsie, gfaren &t Rexfe 7 sidrait & o4 99 &1 Sifed AT ST

Please note that in case of any confusion, the question printed in English may be considered final.
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L (0) is equal to

a) 2

b) -2 ,
) -1

d) 1

Absolute zero temperatrue is considered at
which:

a) All molecular motions cease.

b) Gas becomes liquid

c) Random motion of molecules occurs
d)  Molecular energyis zero

Which of the following represents the velocity
of wave in a string?

T
a) \/%

r
b
) \/%
d) %

If @ is polarizing angle, then refractive index of
the material is given by :

a) n=sin@

b) n=tan@
c) n=cos@
d) n=cot@

The ratio arms of a post office box are
1000 : 10. Calculate unknown resistance, if third

resistance is 948 Q2.

a)  948Q
b) 9.48Q
c) 94380Q
d  0948Q
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10.

Lenz's law is a consequence of law
conservation of :

a)  Charge
b)  Mass
c) Energy

d)  Momentum
Quarks are :

a) Bosons

b)  Hadrons

) Fermions

d)  Photons

Davison and Germer experiment relates t
a) Interference

b)  Electrondiffraction
) Polarisation

d)  Fluorescence

Schrodinger's wave equation for a mc
particle contains:

a) First order time derivative

b)  Secondordertime derivative
C) Third order time derivative
d)  Noneoftheabove

The value of Bohr magneton is : '

a)  9.27x107Am’
b)  9.27x10*Am’
¢  9.27x10°Am’

d)  9.27x10"7Am?
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Diamond crystal has :
a) bcce structure
b) fec structure ‘
) scc structure
d)  hcpstructure

The reverse resistance of a diode is of the order
of:

a) 10°Q
b)  10°Q
o 10°0Q
d 101Q

The shape of the orbital is determined by:
a) Principal quantum number

b)  Azimuthal quantumnumber

c) Magnetic quantum number

d) Spin quantum number

‘Which of the following has pyramidal structure?

a) BF,

b) HO
c CCl,
d) NH,

Which ion can be precipitated by both HCl and
HS:
2

a) Cu*
b) ZIn*
c) Fe*
d Pb
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Which has maximum unpaired electrons :

a) Fe*
b) N
) Zn'
d Cr

The oxidation number of Cr in [Cr(H,0),(
is:

a) 3
b) 2
) 4
d 6

The Van't Hoff factor for a solute that assoc
in solutionis :

a) 0

b <l
©) >1
d ol

In an electrolytic cell, the flow of electr:
from:

a)  Cathode to anode through ext
supply

b)  Cathodetoanode through internal ¢

¢) Anode to cathode through in
supply

d) Cathode to anode in solution

For a reaction: A+2B — C rate s giv
R=[A] [B] Then the order of the reac

givenby:
L

a) 3
b) 5
) 7
d 6
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In which of the following compounds, the carbon
marked with asterisk is most electronegative ?

ay CH,-CH,-'CH,-CH,

b) CH,—CH=CH-CH,

¢0 CH-CH-C='CH

d) CH,-CH,-CH="CH,
Acidrainisdueto:

a) Formation of oxide of nitrogen
b)  Formation of oxide of sulphur

¢)  Formation of H,SO, and HNO,
d)  Allofthese

Which is mainly responsible for depletion of O,
layer?

a) Chlorofluoro carbons
b)  Hydrocarbons

©) CH,Br

d)  Allthese

Which of the following processes does not
increase the amount of CO, in atmosphere?

a)  BurningofPetrol

b)  Photosynthesis

c) Breathing

d)  Decayofanimals

Which of the following is false?

a)  Everysubset of finite set is finite

b) A subsetofan infinite set may be finite
o {0}z0

d) {0} isanull set
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The product of two prime numbers is :

a) Always prime

b) Sometimes prime

c) Composite

d)  Alwaysanevennumber

. Least number which when divided by 3

5, every time leaves a remainder of 2 :

a) 42

b) 52

) 62

d 92

A graph of a linear equation always repr:
a)  Straightline

b) Parabola

) Circle

d)  None ofthe above

Derivative of constant is :
a) Zero
b) One
) Infinity
d)  Notdefined
9
y=x? then @ will be:
dx
9
Zy2
a) >
9 ?
b —x?
) 2
!v
9 3
c) > x
g U
d —x?
) 2
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The maximum and minimum value for the function
2x3-21x2+36x-20

a) 3, —114

b) —3,-128

c) 4,-115

d 4.1

‘Two positive numbers whose sum is 20 and their
product is maximum are :

a) 5,15

b) 8,12

c) 10, 10

d 911

The additional observation of 15 is included in a
series of 11 observations and its mean ()

remains unchanged. The arithmetic mean of the
series is :

a) 11
b) 15
) 165
d 4

Coefficient of variation is given by :

o)
a) .
T
) (o]
9  =x100
o
o Zx100
X

Which of the following measure of dispersion is
called root mean square deviation?

a)  Range
b)  Quartile deviation
c¢)  Standard deviation

d)  Meandeviation
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The probability of an event cannot be :

2 1
b 03
0 05
d -05

The speed of supercomputers is generally
measured in :

a)  Fluctuating point operations per second.
b)  Floating point operations per second.
c) Fluctuations per operations per second.
d)  Fixed point operations per second.

IBM Roadrunner, IBM Blue gene, Intel ASCI
red and PARAM are which type of computers?

a) Minicomputers.

b)  Microcomputers.

c) Mainframe compu'ters.
d) Supercomputers.

PDP 11 and IBM (8000 series) are which type
of computers?

a)  Minicomputers.

b)  Microcomputers.

¢)  Mainframe computers.
d)  Supercomputers.

CPU is also called as the brain of computer. It
full namesis:

a) Central Processing Unit. b
b)  CorePromoting Unit.
¢)  Computer Protecting Unit.

d)  Central Protecting Unit.
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Which of the following is correct with respect to
memory unit of computer?

a)  RAM and ROM are primary memory.

b)  RAM s primary memory while ROM is
cache memory.

c) RAM is cache memory while ROM is
primary memory.

d) RAM and ROM are cache memory.

RAM is a type of memory unit in computers. It
is also known as-

a) Random Access Memory.

b) Rapid Access Memory.

) Rapid Application Memory.
d)  Random Application Memory.

ROM is a type of memory unit in computers. It
is also known as-

a) Random Official Memory.
b)  Rapid Operational Memory.
) Rapid Orthodox Memory.
d)  Read Only Memory.

Cache memory is a very high speed memory
which increase the speed of processing. It is
placed in between which of the following?

a) RAMandROM.
b) RAM and CPU.
c) RAM and secondary memory.
d)  ROM and secondary memory.

Single In-line Memory Module (SIMM) is a type
of:

a) Expansion slot.
b)  Memory Chip.
c) Storage Device.

d)  Processor.
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%) 1Kilobyte (KB)=2'"= 1024 bytes
@) 1Kilobyte (KB)= 1000 bytes

) -+ 1Kilobyte (KB) = 2° = 8 bytes
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AMD and Cyrix are based on which type
microprocessor?

a) © CISC.

b)  RISC.

c) Hybrid of both technologies i.e. CIS
and RISC.

d)  None of the above.

Which of the statement is correct with respe
to binary digits?

a) 1 Kilobyte (KB)=2'"=1024 byteé.
b) 1 Kilobyte (KB) = 1000 bytes.

c) 1 Kilobyte (KB) = 2* = 8 bytes.

d)  1Kilobyte (KB)=2%= 64 bytes.

. Which of the following statement is correct wi

respect to CGA and SVGA monitors ?
a) CGA and SVGA support only 1 colo

b)  CGA generally supports 1 colour wh
SVGA supports around 4 colours.

c) CGA generally supports 160000
colours while SVGA supports aroun
colours.

d)  CGA generally supports 4 colours wh
SVGA supports around 160000
colours.

The most dangerous species of Plasmodium

a) Malarae

b)  Falciparum

c)  Ovale

d Vivax

Internal shell is present in:

a) Unio ’L
b)  Dentalium

c) Chiton

d) loligo
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51. Oxygen content in air we exhale is: F
a) 40%
b) 20%
c) 25%
d 16%
52. Theblastula of frog s called
a) coeloblastula
b)  discoblastula
) Placula
d)  superficial blastula
53. Inbirds allantois helpsin:
a) Excretion
b)  Respiration
¢)  Nutrition
d)  Protection
54. The first genome of a living organism sequenced
in 1995 was :
a) Homosapiens
b)  Drosophila
c) Haemophilus influenza
d) E.coli
55. Anexampleof "artificial system of classification”

a)
b)
c)
d)

Hutchinson
Engler and Prantl
Bessey

Linnaeus system
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The famous botanical garden of Kew is locate
in:

a) France

b)  England

¢) India

d)  Germany
Indian rose wood 1s :

a)  Dalbergia latifolia

b)  Erythrina indica

¢) Ficus religiosa

d) Cedrus deodara

The cell wall of bacteria is composed of :

a)  Murein

b)  chitin
c) cellulose
d)  suberin

Primary Carbon dioxide acceptorinC3.
is:

a) RUBP

b)  oxaloacetate

c) phosphoglyceraldehyde

dy PEP

Cycas differs from pinus in producing:
a)  Porous wood ’L

b) Manoxylic wood

c) pycnoxylic wood

d)  femalecone



